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PART—I: COMPULSORY I 1TTI: 311c4i4 

GENERAL STUDIES / IMfr4 3T% 

1. In which of the following texts, it is 
stated that those who could not speak 
Sanskrit language correctly were called 
'Mlecchas? 

(a) Shvetashvatara Upanishad 

(b) Gopatha Brahinana 

(c) Erihadaranyaka Upanishad 

(d) Shatapatha Brahmana 

2. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

List-I List-H 
(King) (Spouse) 

A. Chandragupta I 1. Dutta Devi 

B. Samudragupta 2. Kuberanaga 

C. Chandragupta II 3. Kumara Devi 

D. Kumaragupta I 4. Ananta Devi 

Codes: 

(a) A B C D 
2 3 4 1 

(b)A B C D 
3 2 4 1 

(c) A B C D 
3 1 2 4 

(d)A B C D 
4 3 1 2 

1 '4T'i r1 *i iq '' 

i iii n? 

(a) TWf II;wc: 

(b) 77)V21 %lPJT 

(c) J(Uqc4, jLqJ?c 

(d) T21 if of 

2. -Ij-II 
fjt1 Mql f: 

ft-I 
(T) (ft) 

A. 1. gi 

B. 1H 2. 

C.  IIc?t4 3.  

D. 4. 31I 

(a) A B C D 
2 3 4 1 

(b)A B C D 
3 2 4 1 

(c)A B C D 
3 1 2 4 

(d)A B C D 
4 3 1 2 
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3. With reference to the book Arthashastra, 

which of the following statements is/are 
correct? 

1. It is the oldest masterpiece on 
Indian State Policy. 

2. There is no description of Mauryan 
empire and administration in this 
book. 

Select the correct answer using the 
codes given below. 

Codes 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

4. Who among the following addressed 
Delhi as one of the greatest cities in the 
world? 

(a) Ibn Batuta 

(b) Alberuni 

(c) Farishta 

(d) Abul Fazi 

5. Who is known as the Father of India's 
Local Self-Government? 

(a) Lord Lytton 

(b) Lord Ripon 

(c) Lord Curzon 

(d) Lord Daihousie 

6. At least how many days are required 
to give the prior notice for the 
impeachment of the President of India? 

(a) 7 days 

(b) 14 days 

(c) 21 days 

(d) 30 days 

GS-A  

Hr11d 
TT 1 /? 

1. ' 
M1'cI1d13 (c4.11I 

2. i (-1I1 N1 IIid ;i 
.iT 1iii 

 1L1 TT E 1 I 

4. 
q •i stdI11? 

(a) 4 Ii1 

(b) 3i41 

(c) 41kc1I 

(d) 3J 

5. TtT TftT 4If ftW{ T '*ici 
iiir 

(a) c1TfTZT 

(b) vi1 lk'.H 

(c) I1 

(d) ciT ci11 

6. RT IgrCI 

 iii ? 

(a) 7I{ 

(b) 14 I4 

(c) 21i 

(d) 30 1-{ 
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7. Who administers the oath of office and 
secrecy to the Governor of a State in 
India? 

(a) The President of India 

(b) The Vice President of India 

(c) The Chief Justice of the High Court 
of the State 

(d) The Speaker of the Legislative 
Assembly of the State 

8. Which Part of our Constitution 
envisages a three-tier system of 
Panchayati Raj? 

(a) Part LX 

(b) Part X 

(c) Part XI 

(d) Part XII 

9. Which of the following States has no 
oil refmery? 

(a) Gujarat 

(b) Kerala 

(c) Chhattisgarh 

(d) West Bengal 

10. Which of the following rivers does not 
flow in Australia? 

(a) Hunter River 

(b) Flinders River 

(c) Orange River 

(d) Gilbert River 

11. Which of the following States recorded 
decrease in its population in 2011 
Census? 

(a) Kerala 

(b) Sikkim 

(c) Nagaland 

(d) Manipur  

7. 1RI ii  Ikfl 
-flqcii ~k I1cllcii ? 

(a) iiPf 

(b) TRT T i1r 

(c) tFT -qI11q i 

(d) TZ5l t tTT T1T T 31tTT 

8.' tgcflI 
i 1*i 1i urn? 

(a) 1V1 IX 

(b) PTX 

(c) lXI 

(d) 1TT XII 

9. -i11Raf 14 J4 4.tft1I w*t 

(a) RId 

(b) ci 

(c) rflwi 

(d) f3R  

10. IiRsci iT1ii wt 

11. f.i1iRd 2011 *vtul.1( 

iiTli iw%? 

(a) cf 

(b) 11( 

(c) 1PII. 

(d) Ml 

GS-A 5 [ P.T.O. 
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12. Which of the following is the most 
effective measure of population control 
according to Maithus? 

(a) War 

(b) Disaster 

(c) Birth control 

(d) Social evils 

13. Which of the following is not a biome? 

(a) Desert 

(b) Grassland 

(c) Ecosystem 

(d) Tundra 

14. Dudhwa National Park is situated in 
which of the following States? 

(a) Assam 

(b) Uttarakhand 

(c) Rajasthan 

(d) Uttar Pradesh 

15. According to the Fourth Round of 
National Family Health Survey, the 
current TFR (Total Fertility Rate—
children per woman) is 

(a)  22 

(b)  32 

(c)  42 

(d)  45 

12. TW 3IR 1iIi 4t4 
1Rci SN1 %? 

(a)  

(b) 311'T 

(c) 5F1-1ui 

(d) *1Il1IItcb u1 

13. I1I1ct fl'{ wt %? 

(a) u1liii 

(b) Tf 

(c) TM4 

(d) ur 

14. $1 i.ii '4ic rl..1r1Rd • T;:I . 
1 ? 

(a) 31W1 

(b) Iu,~ 

(c) i'311I4 

(d) 3R 31 

15. uJ4 '4I1R V11 
3R, o qo M*14 

(a) 22 

(b) 32 

(c) 42 

(d) 45 

GS-A 6 
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16. Which of the following census years is 
known as the 'Year of Great Divide' in 
India? 

(a) 1911 

(b) 1921 

• (c) 1951 

(d) 1991 

17. SRI method is related to 

(a) wheat 

(b) cotton 

(c) mustard 

(d) paddy 

18. Which of the following pairs is not 
correctly matched? 

Crop Insect-pest 

(a)  Groundnut : Pod borer 

(b)  Gram : Pod borer 

(c)  Paddy : Banka 

(d)  Maize : Stem borer 

19. The rotation intensity of Maize-Potato-
Mung bean is 

(a)  100% 

(b)  200% 

(c)  250% 

(d)  300% 

20. Which of the following pairs is not 
correctly matched? 

Crop Variety 

(a)  Groundnut : Kaushal 

(b)  Mustard Vardan 

(c)  Linseed Chamatkar 

(d)  Gram : Udal 

16. IiRsd I.14,uI.sI - IZ W1 
'irfii T ' 1RT rmi ? 

(a) 1911 

(b) 1921 

(c) 1951 

(d) 1991 

17. t10 3o 3o ff Ri 

(a)  

(b) q,MIk{ 

(c) k1k1'1 

(d) TT 

18.  

(a) 4i'sfl : '4ft q)  

(b) R1 : U kch 

(c) 11I : 

(d) T1 : RT cIcct 

19. hWi— kl9ldl % 

(a) 100% 

(b) 200% 

(c) 250% 

(d) 300% 

20. 

MrnI 

(a) 4Nrfl qM 

(b) k1k : 

(c) 3TI11 : 

(d)l :3l 
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21. Which of the following diseases cannot 
be cured by antibiotics? 

(a) Tuberculosis 

(b) Tetanus 

(c) Measles 

(d) Cholera 

22. Which of the following pairs is not 
correctly matched? 

(a) Computer : Charles Babbage 

(b) Radio : Karl Benz 

(c) Barometer E. Torricelli 

(d) Dynamo Michael Faraday 

23. The communication satellites are 
invariably 

(a) revolving at their own speed 

(b) stationary 

(c) geostationary 

(d) changing their track and speed 

24. For which substance among the 
following, conductivity increases with 
temperature? 

(a) Copper 

(b) Germanium 

(c) Silver 

(d) Iron 

25. The area of a regular hexagon of side 
2/ cm is 

(a) 12Jcm2  

(b) 18J cm2  

(c) 18 cm2  

(d) 18I cm2  

GS-A 8 

21. P-iriRt I{ T Pi'1q, RT 1t4 
rt Iqi iT kictff? 

(a) 11l 

(b) ~c-I*l 

(c) s1 

(d) 1 

22. fIikif '4 wt ? 

(a) i-'q : 

(b) :  

(c) l41 : 

(d) sii.ii4 : Icic1 

23. iii 

(a) 31ft 

(b)  

(c) %j-1l 

(d) iifl 

24. -1RsKf tT I*ic Iciqi1 (1J'4&( 

1T 4c&? 

(a) i1i 

(b) 1[qi4 

(c)  

(d) ir 

25. 2I cm 

(a) 12-Jcm2  

(b) 18Vcm2  

(c) 18 cm2  

(d) 1&'fcm2 

S 
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3 
(a) 

8 

8 
21 

(c) - 

26. If 2x + =3, then the value of 

31 
x 

x')  

26. 2x+-=3, x3  +---+21 'ii% 
x 

(a) 

(b) 

(c)  

3 
8 

19 

8 

21 
8 

(b) 

(d) 

(d) 

27. If one of the roots of the quadratic 
equation 2x2 +px+4=0 is 2, then the 

other root is 

(a) -2 

(b) -1 

(c) +1 

(d) +2 

28. In which State was the military exercise 
'Vijay Prahar' held in May 2018? 

(a) Maharashtra 

(b) Gujarat 

(c) Rajasthan 

(d) Madhya Pradesh 

29. Who has won the Women Singles Title of 
Badminton in Commonwealth Games, 
2018? 

(a) Saina Nehwal 

(b) P. V. Sindhu 

(c) K. Gilmour 

(d) Michelle Li 

30. In the World Press Freedom Index, 
2018, India is placed at 

(a) 135th 

(b) 136th 

(c) 138th 

(d) 137th  

27. 1itfl wflci 2x 2 +px+4=0 1 1 

jT 2 , k11 cII ji 

(a) -2 

(b) -1 

(c) +1 

(d) ~2 

28. 2018   UT i'ii 'Ite4 

SR' 4j1'4 i? 

(a)  

(b) IUcf 

(d) 11 

29. i'isv'f lI, 2018 .s1-4 1 Hcii tcf 

Rii4 1*i ir %? 

(a) 1IT 

(b) oojq 

(c) o ji4k 

(d) 1WMft 

30. i 1 ii11 cit, 2018 

i;i 

(a) 135t 

(b) 136T 

(c) 1381 

(d) 1371 

7 
8 
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391R 

PART—I!: PHYSICAL EDUCATION / ThT—II : ii11ket fTu 

31. For participation in 776 BC Olympic 
Games, participants had to practice for 
one month under the games expert was 
called 

(a) hellanodikard 

(b) paidonomus 

(c) paidotribe 

(d) spharistes 

32. Arrange the following 'Awards' in 
chronological order 

1. Rajiv Gandhi Khel Ratna Award 

2. Arjuna Award 

3. Maulana Abul Kalam Azad Trophy 

4. Dronacharya Award 

Codes 

(a) 3, 2, 4, 1 

(b) 1, 3, 2, 4 

(c) 4, 1, 3, 2 

(d) 3, 2, 1, 4 

33. 'Ever forward' is the motto of 

(a) Asian Games 

(b) Olympic Games 

(c) Commonwealth Games 

(d) Afro-Asian Games 

34. In which year were First Winter Olympic 
Games held? 

(a)  1922 

(b)  1924 

(c)  1928 

(d)  1948 

35. How many gold did Jasse Owens get in 
1936 Berlin Olympic Games? 

(a) One 

(b) Two 

(c) Three 

(d) Four  

(a) 3,2,4,1 

(b) 1,3,2,4 

(c) 4, 1, 3, 2 

(d) 3,2,1,4 

33. 'itR MIIflvi'  31—WT 

(a) IgI T 

(b)  

(c) iTT 

(d) -i 1 

34. 5Im flcicti clfic1, 

(a) 1922 

(b) 1924 

(c) 1928 

(d) 1948 

35. 1936 1i1;:4 . 

f~ 4—qc4., lII1 j 

(a)  

(b)  

(c)  

(d) tR 

/24-A 10 
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36. When did Kaul Kapoor Committee start 
their work? 

(a) 1900 

(b) 1908 

(c) 1960 

(d) None of the above 

37. Psychology is the study of 

(a) human posture 

(b) human behaviour 

(c) human performance 

(d) human relations 

38. "Having learnt the forehand drive in 
tennis, the action is then modified to 
the forehand with top spin." This type 
of transfer of training is an example of 

(a) positive transfer 

(b) negative transfer 

(c) retroactive transfer 

(d) proactive transfer 

39. How many types of law of learning were 
propounded by Thorndike on the basis 
of experiments? 

(a) 2 

(b) 3 

(c) 5 

(d) 7 

40. Which type of personality is not compet-
itive by nature? 

(a) Type 'A' personality 

(b) Type 'B' personality 

(c) Type 'C' personality 

(d) Type D' personality 

41. "Sports psychology is the study of the 
application of psychological principles to 
sports and physical activity at all levels 
of skill improvement." Who said this? 

(a) Clark and Clark 

(b) Brown and Makoney 

(c) K. M. Burns 

(d) John Lauther 

/24-A 11 

36. c  qq q, 3iqi c,j4 

(a) 1900 

(b) 1908 

(c) 1960 

(d)  

37. 4i.iIIi4 W2T % 

38. "~Pk4 4fl(  1R 1I, zT'i  
ki1cf 4R11kcf iifI i" MbR 

ifiiui i il.iI -c1I I ur %? 

(a) i1IcMl *1I1i1l 

(b) iIkic H1UI 

(c) 1HiduI 

(d) 3F1T +l.1icKui 

39. 1i4Icb qUj 311tlR   MclR 

fl& 1i1 i MI'.it 1t n? 

(a) 2 

(b) 3 

(c) 5 

(d) 7 

40. 

(a) i{ 'A' 1rml 

(b) 'B' 4fc 

(c) i4 'C' °1Ib'4 

(d) I14 'D' oqçt,cc4 

41. " 4'ifII.{, c1.tfrc , c4j' 

1 iiO1kct 

(a) 41It4c1I'1 

(b) ifli 

(c) o 1 o4T 

(d) I1I 1T T 

P.T.O. 

(a)  

(b)  

(c)  

(d)  
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42. Mueller Anderson playback method is 
an example of which type of tournament? 

(a) Knockout 

(b) League 

(c) Combination 

(d) Challenge 

43. Depending on the chemical organization, 
carbohydrates are divided in how many 
categories? 

(a) 1 

(b) 2 

(c) 3 

(d) 4 

44. About 99% of the mass of each 
individual is constituted by six elements, 
i.e., carbon, oxygen, hydrogen, 

(a) nitrogen, phosphorus and calcium 

(b) phosphorus, potassium and sodium 

(c) calcium, sulfur and copper 

(d) nitrogen, phosphorus and iodine 

45. Which is the compulsory amino acid for 
the body? 

(a) Glycine 

(b) Tyrocine 

(c) Lysine 

(d) Serine 

46. Which substance helps to balance the 
body? 

(a) Endolymph 

(b) Perilymph 

(c) Cochlea 

(d) Mastoid bone 

47. Which salt is most found in bone? 

(a) Magnesium chloride 

(b) Calcium phosphate 

(c) Sodium chloride 

(d) Calcium carbonate 

42. u4.i 
cl(Ul %? 

(a) -uc43TIT3E 

(b) flf 

(c) c444)4 

(d) -i 

43. R1I4cb IO1 3NT 'L 
i4i-i1 11TTm? 

(a) 1 

(b) 2 

(c) 3 

(d) 4 

46. 4{-1 T *ici. RT i   

/24-A 12 
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48. Which cell organ of the human body is 
known by the name of 'traffic police'? 

(a) Protoplasm 

(b) Cytoplasm 

(c) Lysosome 

(d) Golgi bodies 

49. Ciliac disease is caused by the lack of 

(a) vitamin A 

(b) vitamin C 

(c) vitamin D 

(d) vitamin E 

50. What type of protein is found in the egg? 

(a) Prolamin 

(b) Glutelin 

(c) Globulin 

(d) Casein 

51. The teachers of Physical Education must 
have knowledge of which factor when 
they teach any activity related to motion? 

(a) The production of force 

(b) The application of force 

(c) The absorption of force 

(d) All of the above 

52. Hamstring curl is an example of 

(a) class I lever 

(b) class II lever 

(c) class III lever 

(d) All of the above 

53. 'Raising an opponent in wrestling' is 
an example of Newton's which law of 
motion? 

(a) Law of inertia 

(b) Law of acceleration 

(c) Law of reaction 

(d) None of the above 

50. 3V i iu iii 

(a) lcH 

(b) 1 rc.M 

(c) ir 

(d)  

51.  fii , 

c j c i T rftr? 

(a) ii i ic 

(b) Tf T M61 

(c) flff I 3Iul 

(d) fr 

52. 'fi c4'  IM4 'ft i iui 

(a) T 

(b) RTf1T 

(c) icti. i 

(d)  

53. ' 1fi 3,L4( .-q.4 

'i1i—ft i iur  %? 
(a) '1c1I 1 144 

(b) iiThii 

(c) MII111i 

(d)  

/24-A 13 P.T.O. 

https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/


54. Swimmers lose body heat to water 
through the process of 

(a) evaporation 

(b) convection 

(c) conduction 

(d) radiation 

55. What is called swelling around synovial 
fluid of joint? 

(a) Sprain 

(b) Strain 

(c) Cramp 

(d) Synovitis 

56. 'Effleurage technique' of massage is 

(a) stroking manipulation 

(b) pressure manipulation 

(c) percussion manipulation 

(d) shaking manipulation 

57. Which Asana is important for memory 
improvement? 

(a) Vajrasana 

(b) Chakrasana 

(c) Dhanurasana 

(d) Padmasana 

58. At what distance is the 5th stagger from 
the starting line for 200 meter sprint of 
standard track? 

(a) 1119 meter 

(b) 1502 meter 

(c) 1886 meter 

(d) 2265 meter 

59. Temperature of water in swimming pool 
should be 

(a) 23 °C 

(b) 24 °C 

(c) 25 °C 

(d) 30 °C 

60. In which Olympic Games was rhythmic 
gymnastics added? 

(a) 1968 Mexico 

(b) 1972 Munich 

(c) 1980 Moscow 

(d) 1984 Los Angeles  

54. PT l 'TPf 11 c1d 

(a) i.fkui 

(b)  

(c) 'Jd-{ 

(d)  

55. T1 HHct t&c-( c Jc 1TT 5 

i  , i? 

(a) -{ 

(b) 4 

(c) 4 

(d) iiiP.{ 

56. HIR1i ''ji ict-fl' 

(a) 11Hl +d1lcf fiIT 

(b) 1l'f 1r 

(c) Nici1i 

(d) Iif ticI iIfi 

57.  if vn 

(a) I-{ 

(b) *i{ 

(c) R-H 

(d) '4HId-{ 

58. HI1c1 1T-'iT ( 200 4  fF fTt 5 
i ifl c1I4 II-11 t R vI'IllF tIc1l 

(a) 11l9'ftZ 

(b) 1502 4k& 

(c) 1886 41)dA. 

(d) 2265 Thk 

59. {T cucll4 4F.0 T c1I1I4 I-Il TffT 

(a) 23 °C 

(b) 24 °C 

(c) 25 °C 

(d) 30 °C 

60. 1{ 3Ikii t jci r  
iii In Tfl  2r1? 

(a) 1968  

(b) 1972 jcb 

(c) 1980li 

(d) 1984 ii1 
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61. The component of physical fitness is 

(a) strength 

(b) speed 

(c) flexibility 

(d) All of the above 

62. The period of meso cycle training is 

(a) 3 to 12 months 

(b) 3 to 12 weeks 

(c) 3 to 6 weeks 

(d) 3 to 6 months 

63. Flexibility test is 

(a) ruller drop test 

(b) medicine ball throw 

(c) tiechy test 

(d) None of the above 

64. The full form of AAHPERD is 

65. Harvard step test was developed by 

(a) Wells and Dillon 

(b) Rikli and Jones 

(c) Perrine 

(d) Brouha and others 

66. Speed can be best measured by 

(a) 100 meter sprint 

(b) 80 meter sprint 

(c) 80 yard sprint 

(d) 50 yard sprint 

61. 

(a) Tf 

(b) 11T 

(c) t'** 

(d) 1fth fi 

62. k1T 1b M1ru1 3TEffT % 

(a) 3 12 1-1i 

(b) 312TT 

(c) 36W 

(d) 36T 

63. ct1c' i:iii:i k iT1  1ci1 TTUl % 

(a) k1 jq ~ 

(b) 1r1.1 iTi 'il 

(c)  

(d)  

64. AAHPERD 1 ¶1 TP4 

(a) 311k1 1I'H4 4R ,  

ftl i.i  

(b) 1IH4 3Th4 3iff*.1 %, 1h1ictci 

1i1 iJ 1-*1 

(c) 31fr1 1 1I'H1 R T, 4*t1 

1'I{ IH1 

(d) It*{ 3 3Th1-1  , tf.1c9l 

j( 

65. -4 TUl 11d 1 n1 1 

(a) c{ 1T sji 

(b) ftc{) 11 I)-k4 1U 

(c) O4 R1 

(d) Ii ITT 3TT RI 

66. 1lRf Hi{ T5TT *ti1 

(a) 100 1l     aRi 

(b) 80 4k  

(c) 80   aRt 

(d) 50 1TT  aRt 

(a) American Alliance for Health, 
Physical Education, Recreation and 
Dance 

(b) Alliance of American for Health, 
Physical Education, Recreation and 
Dance 

(c) American Alliance for Health, 
Physical Education, Recreation and 
Drama 

(d) Alliance of American for Health, 
Physical Education, Recreation and 
Drama 
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67. Which of the following is not related to 
periodization in sports training? 

(a) Macro cycle 

(b) Meso cycle 

(c) Myo cycle 

(d) Micro cycle 

68. Polymetric training is used for developing 

(a) explosive strength 

(b) static flexibility 

(c) coordinative ability 

(d) long endurance 

69. Which of the following measures cardio-
vascular endurance? 

(a) Tuttle pulse ratio test 

(b) Harvard step test 

(c) Run-walk test 

(d) All of the above 

70. In which year Ancient Olympic Games 
were banned? 

(a) 396 AD 

(b) 394 AD 

(c) 776 AD 

(ci) 334 AD 

71. In Olympic motto the meaning of 
'fortius' is 

(a) higher 

(b) faster 

(c) stronger 

(d) lighter 

72. Which of the following is not a law of 
learning? 

(a) Law of readiness 

(b) Law of effect 

(c) Law of reaction 

(d) Law of exercise  

67. cf MII 11T 144 i( c4.{-fl 

(a) 1 

(b) i't 

(c) -ii4't iIIc't 

(d) '1T 

68. Tefl1ci i Ii IId c ft'i 
'flc1I 

(a)  if 

(b) fti ct4kiiH 

(c) 4diH-i-4 411l 

(d) cikfl ifkiii 

69. -iRiRd -{-1 1TfU1 c4IIctI 

irii i it'- ir 

(a) f 4 3TTT W1 

(b) 4T 

(c)  

(d) ..m 

1ii TTl? 

(a) 396 AD 

(b) 394 AD 

(c) 776 AD 

(d) 334 AD 

71. ifct ' 3ITI-c4Ict4 '4;)1' 1 

(a) 4I 

(b)  

(c) ItfIk-f 

(d) T 

72. crRd   wf ? 

(a) f1iPI 

(b) TEf11tZTR 

(c)  

(d) 3T1T 
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(a)  

(b)  

(c)  

(d)  

16 

32 

28 

56 

(a) 1- i1 iff g4i 

(b)  

(c)  tt — 

(d) 11.ct 1~*I ;I - 

73. Which of the following is not correctly 
matched? 

List-I List-H 
(a) Surplus Energy Theory - Carigroos 
(b) Cathartic Theory - Aristotle 
(c) Recapitulatory Theory - G. Stanley 

Hall 
(d) Instinct Practice Theory - McDougall 

74. Endomorph is characterized by 

(a) thin and lethargic 

(b) flabby and fat 

(c) muscular and athletic 

(d) All of the above 

75. Theory of insight learning was 
propounded by 

(a) Thorndike 

(b) Pavlov 

(c) Kohler 

(d) Cattell 

76. How many matches will be played in a 
single-league tournament, when 8 teams 
are participating? 

(a) 16 

(b) 32 

(c) 28 

(d) 56 

77. Which of the following is not correctly 

matched 

List-I List-H 

(a) Osteology - Bones 

(b) Arthrology - Joints 

(c) Myology - Muscles 

(d) Neurology - Internal organs 

78. Volume of air remaining in the lungs at 
the end of maximal expiration is known 
as 

(a) tidal volume 

(b) expiratory reserve volume 

(c) residual volume 

(d) inspiratory reserve volume  

73. HR1d c -n rf %? 

77. 11HR1ftd 4{-1 rd it ? 

78. 3Tf4 

(a) izf 'iTci 

(b) fl) cTc-i 

(c) 3T1 Tc 

(d) i1 ThiT ieq 
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79. Which of the following is 'ball and 
socket' joint? 

(a) Elbow joint 

(b) Shoulder joint 

(c) Wrist joint 

(d) Knee joint 

80. What will be the number of rounds in 
a cyclic method where 17 teams are 
participating in a single-league tourna-
ment? 

(a) 15 

(b) 16 

(c) 18 

(d) None of the above 

81. When a group of people comes together 
to work for a common cause, it is called 

(a) management 

(b) administration 

(c) organization 

(d) None of the above 

82. Who developed the administrative theory 
of management? 

(a) Henry Fayol 

(b) F. W. Taylor 

(c) Max Weber 

(d) Elton Mayo 

83. The causative agent for syphilis is 

(a) Treponema pallidum 

(b) Treponema sulphium 

(c) Bacterium ribinoporium 

(d) Multiporium derma 

84. Each gram of fats supplies how many 
calories to the body? 

(a) 12 kcal 

(b) 4 kcal 

(c) 9 kcal 

(d) 32 kcal  

79. rf c4- ' 1ici 1E' t1iT 

(a)  

(b)  

(c) TT1 

(d)  

80. Thi-fti MI4'I1E 17  wi 

(a) 15 

(b) 16 

(c) 18 

(d) 3Th 

81. i N f  k1l4$ 

(a) tf 

(b) lzni 41.{ 

(c) WId-{ 

(d)  

82. 5ET MII1c4 Ii,aI-cr 

(a)  

(b) qo o ~ci 

(c) tH R 

(d) ç-{ 1I4 

83. 1114 i I  j(c 

(a) 1)Ht Qffqg 

(b)  

(c) /.j)q)flqq 

(d) q7)Iq.'i si1 

84. cif 1 Mrd T;T 
m %? 

(a) 12 kcal 

(b) 4 kcal 

(c) 9 kcal 

(d) 32 kcal 
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85. Which of the following is not correctly 
matched? 

List-I List-H 

(a) Vitamin D — Sunlight 

(b) Vitamin B1 Thiamin 

(c) Vitamin B2 — Riboflavin 

(d) Vitamin 83 — Rickets 

86. When was Indian Red Cross Society 
established? 

(a) 1921 

(b) 1931 

(c) 1920 

(d) 1940 

87. Metabolism is related with which 
system? 

(a) Blood circulatory system 

(b) Skeletal system 

(c) Respiratory system 

(d) Digestive system 

88. Which is called anti-ricketic vitamin? 

(a) Vitamin A 

(b) Vitamin D 

(c) Vitamin C 

(d) Vitamin K 

89. During exercise, muscles contraction 
can be avoided by the consumption of 

(a) low-fat calcium diet 

(b) potassium-rich food 

(c) B-complex vitamins and water 

(d) All of the above 

90. 'Burner' injury in football players is 
commonly known as 

(a) bursities 

(b) strain 

(c) stinger 

(d) cramp 

85. ItH111cf c —m R1d wI %? 

(a) Ii1H D — 

(b) IlIH B1 — 

(c) 1ifH B2 — ck1f 

(d) fi1-{ B3 - 

86. i4 *ilii1 1R1 c 

(a) 1921 

(b) 1931 

(c) 1920 

(d) 1940 

87. 'T tT 1* 

(a) k1wU1 

(b) 'lT ci 

(c) ki{ F1 

(d) Lu'*fW 

88. —1k1cb I4 

(a) iIi1{ A 

(b) 11i1-{ D 

(c) ii11 C 

(d) {rH K 

89. o411l4 ckI-{ ii1i 1i.i EI 1i 
ifl R1 n sccii 

(a) 1 c4Ki1 IW-P1 Th 

(b) 1I44 Th 1i'tH 

(c) —c11*{ IIH  

(d)  

90. .iv1 Rcii14t ''  

11fr-ld:  T111 '1H1 '1k1I I 

(a) 1i1~.{ 

(b) 4 

(d) 4 
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91. In which Olympic Games was doping 
test started? 

(a) 1936 Berlin 

(b) 1968 Mexico 

(c) 1900 Paris 

(d) 1924 Paris 

92. Applying alternate cold and hot water in 
injured body part is called 

(a) electrotherapy 

(b) cryotherapy 

(c) hydrotherapy 

(d) contrast bath 

93. With reference to 'hinge joint', which of 
the following movements is/are correct? 

1. Abduction 

2. Adduction 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

94. With reference to second type of lever, 
which of the following statements is/are 
correct? 

1. Resistance is located between 
fulcrum and force. 

2. Force is located between fulcrum 
and resistance. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2  

(a) 1936lT 

(b) 1968 1ict  

(c) 1900I 

(d) 19241 

92. 6 

y41'i  

(a) ëTiftfi 

(b) b1t 

(c)  

(d) bil1T 

93. '— (f i ' Tft1 , IiR 
c4.{—f 1/Tl /? 

1. 3Nc1c?1 

2. 1Th 
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(a) A B C D 
2 1 4 3 

95. What is the unit of force in FPS? 

(a) Poundal 

(b) Pound 

(c) Newton 

(d) Dyne 

96. The father of Kinesiology is 

(a) Aristotle 

(b) Thorndike 

(c) Gallon 

(d) Heneiy 

97. Protraction and retraction take place in 

(a) hip joint 

(b) shoulder joint 

(c) elbow joint 

(d) knee joint 

98. 'Hang' technique is related with 

(a) high jump 

(b) gymnastic 

(c) long jump 

(d) tennis 

99. Match List-I with List-TI and select the 
correct answer using the codes given 
below the Lists 

95• iqo 4o 1jo i iii  n 

(a) '1l"sc1 

(b) MI.U5 

(c) .'qr.4 

(d) .si4 

96. i1i1iii (If1ci1'.7R) 

(a)  

(b) iT4ict 

(c)  

(d) i1 

97. 314I*1 (s4H) 3 3ii*i (1kc*H) )c1i 

(a)  

(b) Iji 

(c)  

(d) itU 

98. 'ti' frflcl,  ii iPci ? 

(a)  

(b) IDI1 

(c)  

(d) ~1W 

99. -I -II R1d Cr T ki1I  

List-I 

High jump 

Long jump 

Sprint race 

Javelin throw 

List-H 

1. Hang style 

2. Straddle role 

3. Rear cross step 

4. Shoulder shrup 

A.  

B.  

C.  

D.  

Codes 

(a) A B C D 
2 1 4 3 

(b)A B C D 
2 3 1 4 

(c) A B C D 
3 1 4 2 

(d)A B C D 
1 2 3 4 

(b) A B C D 
2 3 1 4 

(c) A B C D 
3 1 4 2 

(d)A B C D 
1 2 3 4 
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100. Which of the following terms is asso-
ciated with the game of hockey? 

(a) Bully 

(b) Gully 

(c) Fly ball 

(d) Roffing ball 

101. Which of the following lines is not 
related to kabaddi? 

(a) End line 

(b) Bonus line 

(c) Baulk line 

(d) Attack line 

102. Match List-I with List-I! and select the 
correct answer using the codes given 
below the Lists 

List-I List-H 

A. Libero 1. Badminton 

B. Stop board 2. Basketball 

C. Let 3. Volleyball 

D. Fast break 4. Track and Field 

Codes: 

(a) A B C D 
3 1 4 2 

100.  

101.  

A.  

B.  

C.  

k-i 

(a)  

(b) ifi 

(c)  

(d)  

1 ? 
-4'r iif 

r?T 

(a) 1 c1If 

(b) i)i4 1I4 

(c) iT c1I.( 

102. -Ij-IIi 

(d) 31 cii4 

ft-i 

M)1 IL: 

ft 

i 

(a) A B 

1.  

2. iTci 

3. cfl 

C 

4• q 

D 
(b)A B C D 3 1 4 2 

3 4 1 2 
(b) A B C D 

(c) A B C D 3 4 1 2 
2 1 4 3 

(c) A B C D 
(d) A B C D 2 1 4 3 

4 3 2 1 
(d)A B C D 

103. Which of the following is not correctly 
matched? 

4 3 2 1 

List-I List-il 
103. -1iRacf I—TT R'ici wt ? 

(a) 110 m hurdles — Men ft—i ft—n 
(b) 50 km race walk 
(c) 3000 m steeple- 

chase 

— 

— 

Women 

Men and 

(a)  

(b)  

— 1104tocf 

50 jo o — 

women (c)  3000 fto l- — 

(d) Heptathion — Women (d) — 
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104. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

List-I List-H 

A. Padmasana 1. The lotus pose 

B. Sarvangasana 2.  The crocodile pose 

C. Makarasana 3. Shoulder stand pose 

D. Bhujangasana 4  The cobra pose 

104. -I -ii 1jrth1 1111!. 1T 

.fl  fr TT c 

k1l-I 

A. L4cjl.111.1 1. i11ZT 1 

B. 1cT4It4 2. i-ic 

C. cI41-{ 3. i1ck I 

D. ivii*i.i 4. T1 

(a) A B C D 
3 1 4 2 

(b) A B C D 
4 3 1 2 

(c) A B C D 

1 3 2 4 

(d) A B C D 
2 1 4 3 

List-I 

A. Central lane (Kho-kho) 

B. Goal line (Hockey) 

C. Side line (Football) 

D. Runway arch (Javelin)  

List-H 

1. 75 mm 

2. 30 cm 

3. 7 cm 

4. 5 inches  

105. -I kj4'-II  

-II 

1. 75 mm 

2. 30 cm 

3. 7 cm 

4. 5 inches 

Codes 

(a) A B C D 
3 1 4 2 

(b)A B C D 

4 3 1 2 

(c) A B C D 

1 3 2 4 

(d) A B C D 
2 1 4 3 

105. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

(a) A B C D 
4 2 1 3 

(b) A B C D 

2 1 4 3 

(c) A B C D 
1 2 3 4 

(d) A B C D 
3 2 1 4 

106. Which of the following lines is related to 
volleyball? 

(a) Bonus line 

(b) Baulk line 

(c) Attack line 

(d) Service line  

106. ifiRd i-fi ii iflIci 

(a) i4 ctl{ 

(b) 1T1 1l-{ 

(c) 3R ti-{ 

(d) k1Ik{ fl-{ 

Codes 

(a) A B C D 
4 2 1 3 

(b) A B C D 

2 1 4 3 

(c) A B C D 
1 2 3 4 

(d) A B C D 
3 2 1 4 
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A.  

B.  

C.  

D.  

List-I 

Lobby (Kabaddi) 

Runway (Long jump) 

Runway (Javelin throw) 

Side gallery (Badminton) 

1.  

2.  

3.  

4.  

List-H 

046 m 

1•00 m 

122 m 

400 m 

Codes: 

(a) A B C D 
1 2 3 4 

(b) A B C D 
2 3 4 1 

(c) A B C D 
2 1 4 3 

(d)A B C D 
3 1 2 4 

109. The measurement of floor exercise mat 
in gymnastic is 

(a) lOxlO meter 

(b) 12x10 meter 

(c) 12x12 meter 

(d) lOx 12 meter 

110. The total length and breadth of lawn 
tennis court (singles) is 

(a) 76x25 feet 

(b) 78x27 feet 

(c) 77x26 feet 

(d) 79x28 feet 

107. The total weig1t of the shuttle cock is 

(a) 465 gm-447 gm 

(b) 455 gm-465 gm 

(c) 467 gm-474 gm 

(d) 475 gm-550 gm 

108. Match List-I with List-IT and select the 
correct answer using the codes given 
below the Lists 

107. it 

(a) 465 gm-447 gm 

(b) 4.55 gm-465 gm 

(c) 467 gm-474 gm 

(d) 475 gm-55O gm 

108. -I -1I 11d cL T kjI4 
1L: 

1. 046 m A. '.9T4 () 
2. 1•00 m B. 

3. 122 m C. ('i1i.i ?i) 

4. 4OO m D. *i Tr1 (sf -.f) 

(a) A B C D 
1 2 3 4 

(b)A B C D 
2 3 4 1 

(c) A B C D 
2 1 4 3 

(d)A B C D 
3 1 2 4 

109. {o J rTqft% 

(a)  

(b)  

(c)  

(d)  

110. • i  c4  (q,) ii 

(a) 76x25lZ 

(b) 78x27Z 

(c) 77x26t 

(d) 79x28tg 
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114. iiiiPici T—T j1i1d Wt %? 

ft—i 

rr (a)  

(b)  

(c)  

(d)  

111. What is the length of neutral zone in 
basketball? 

(a) 30cm 

(b) 40cm 

(c) 35cm 

(d) 45cm 

112. In how many groups did Spencer divide 
personality? 

(a) 7 

(b) 6 

(c) 3 

(d) 4 

113. Which of the following organs is covered 
by 'pleura'? 

(a) Heart 

(b) Kidney 

(c) Abdomen 

(d) Lung 

114. Which of the following is not correctly 
matched? 

List-I List-fl 

(a) Sesamoid bone Patella 

(b) Short bone Carpal 

(c) Flat bone Scapula 

(d) Irregular bone Tarsal 

115. Which of the following anatomical terms 
is not correctly matched? 

List-I 

(a) Anterior 

(b) Lateral 

(c) Prone 

(d) Medial 

116. The control system of body 
in the 

(a) spinal cord 

(b) cerebral cortex 

(c) medulla oblongata 

(d) pons  

111. iicr .q  ii t  1l,ci.fl *I 
(a) 30cm 

(b) 40cm 

(c) 35cm 

(d) 45cm 

112.  

(a) 7 

(b) 6 

(c) 3 

(d) 4 

113. 1Rci T-i 3T "MU' 1T T 
ti 

(a) 4 

(b) j1 

(c) 3 

(d) h1 

List-H 

Front 

Outside 

Face down 

Face up 

reflexes lies 
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117. The valve situated between right auricle 
and right ventricle is known as 

(a) pulmonary valve 

(b) aortic valve 

(c) tricuspid valve 

(d) mitral valve 

118. Cardiorespiratory efficiency is best 
measured through 

(a) Indiana Motor Fitness test 

(b) Harward Step test 

(c) John-Methany test 

(d) J. C. R. test 

119. Purpose of the test is measured through 

(a) reliability 

(b) validity 

(c) objectivity 

(d) split-half method 

120. Vertical jump to measure strength is 
also known as 

(a) high jump 

(b) broad jump 

(c) two-leg jump 

(d) Sargent jump 

121. Kraus-Weber test measures 

(a) minimum muscular strength 

(b) absolute muscular strength 

(c) maximum muscular strength 

(d) relative muscular strength  

122. How many periods come under perio-
dization? 

(a) 2 

(b) 3 

(c) 5 

(d) 6 

123. In how many types can coordinative 
abilities be classified? 

(a) 4 

(b) 5 

(c) 7 

(d) 3 

117. TI 1r T4 1PT j 

cc1Ic11 % 

(a) 'i4'iO c4Icc4 

(b) c4Jç.4 

(c) icP~ lcc 

(d) If cfic'c4 

118. 4-c1*1.{ Tf11   w1 fiT ii.fl ncft %? 

(a) IHI 4k 

(b) ~4~ 

(c) ifi-fi ~+ 

(d) o o 3o ~ 

119. i Ik 1ti ur iiii 

(a) r-fkdr 

(b) i1 

(c) g1kctc11 

(d)  

120. lcicj Rl II HP4 3 1{ 4 
ti-ir iir 

(a) 'fl  

(b)  

(c)  

(d) k1I' -  '1 

121. bl3* - GR ii 

(a) -1dH H11IW 1TF 

(b) 94 mi1W it 

(c) 3TDITT  Ti 

(d) ii*i11q rff 

122. 

123. WF4fl it1 i11i j 

i ir 

(a) 4 

(b) 5 

(c) 7 

(d) 3 

3&fti1 3F1T iiil ct1cf 31T ? 

(a) 2 

(b) 3 

(c) 5 

(d) 6 
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124. In extensive interval method the 
intensity is 

(a)  60-80% 

(b)  80-90% 

(c)  30-40% 

(d)  40-70% 

125. Sports performance is the bioproduct of 

(a) skill 

(b) conditional ability 

(c) total personality 

(d) tactical ability 

126. The benefits of competitive sports 

(a) help to realize sports performance 
of players 

(b) help to know weakness of players 

(c) help to develop technical skill of 
players 

(d) All of the above 

127. Which is the first thing used in contrast 
bath? 

(a) Hot water 

(b) Hot and cold water 

(c) Cold water 

(d) Lukewarm water 

128. Kyphosis is also known as 

(a) round shoulder 

(b) lateral back 

(c) hollow back 

(d) curved back  

129. Pre 
hours 

-event massage is given before 
of competition. 

(a)  8-12 

(b)  12-24 

(c)  1-3 

(d)  36-48 

124. rd3 TM% 

(a) 60-80% 

(b) 80-90% 

(c) 30-40% 

(d) 40-70% 

125. VI 4flujl 

(a) 4Mf1 

(b) dii 

(c) 9°lc41 

(d) rm 4ii i 

126. Mf1)'fl 

(a) 1c1I1  * &k 31 t 'iii 

(b) fI1 'i1-$ 

(c) 1iI141 i-fl1 cic1 

(d) 311Th 

127. ctTR N il1 'iii4 1Tf Zl1 

(a) TT ii-fl 

(b) 1I Ui T4 

(c) S1 41-fl 

(d) -1i1 41-fl 

128. 4 '1l-i1 'tR1i 

(a) HIc4R4Tl 

(b) 41c4t 

(c) lcI1 '5 

(d) ' i.fl  

129. f HIt1I i4Iir 

(a) 8-12 

(b) 12-24 

(c) 1-3 

(d) 36-48 
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130. Match List-I with List-I! and select the 
correct answer using the codes given 
below the Lists 

List-I List-H 

A. Round Robin i. Posture 

B. Kyphosis 2. Bone 

C. Percussion 3• Tournament 

D. Sternum 4. Massage 

Codes 

(a) A B C D 
2 4 3 1 

(b)A B C D 
4 3 1 2 

(c) A B C D 
3 1 4 2 

(d)A B C D 
1 2 3 4 

131. Physical treatment is addressed by 
which of the following? 

(a) Myotherapy 

(b) Biotherapy 

(c) Physiotherapy 

(d) Ice therapy 

132. What was the Mascot of 2003 World Cup 
Cricket? 

(a) Mellow 

(b) Stumpy 

(c) Geeva 

(d) Dazzler 

/24-A 28  

130. -I -II ccrii  

ft—i 9ft—u 
A. 1. 311 

B. jqff{ 2. 

C. '.ii.i 3. MI4't1r 

D. +4 . 

(a) A B C D 
2 4 3 1 

(b) A B C D 
4 3 1 2 

(c)A B C D 
3 1 4 2 

(d) A B C D 
1 2 3 4 

(a) i4kfi 

(b) ;iiM 

(c) 11I4 

(d) 31T tft 

132. 2003 i iz i n '-fr? 

(a) ci' 

(b) 41 

(c)  

(d) 91ci 

131. IIO1kc4e   1iRcf 
-ir  1r iiir ? 
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133. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

List-I List-H 

A. Weight of handball 1. 260-280gm 
(men) 

B. Weight of football 2. 425-475 gm 

C. Weight of basketball 3. 510-567gm 
(women) 

D. Weight of volleyball 4. 410-450gm 

Codes 

(a) A B C D 
2 4 3 1 

(b) A B C D 
4 3 1 2 

(c) A B C D 
3 4 2 1 

(d)A B C D 
2 4 1 3 

134. The total number of field events in 
decathlon is 

(a) 4 

(b) 5 

(c) 6 

(d) 7 

135. Alternating possession indicator (arrow) 
is used in which game? 

(a) Hockey 

(b) Shooting 

(c) Basketball 

(d) Volleyball 

136. How many medals did India win in 
Ninth Asian Games? 

(a) 13 Gold, 19 Silver, 25 Bronze 

(b) 8 Gold, 26 Silver, 32 Bronze 

(c) 21 Gold, 20 Silver, 26 Bronze 

(d) 2 Gold, 17 Silver, 36 Bronze 

137. India participated in Olympic Games for 
the first time in 

(a) 1896 

(b) 1900 

(c) 1904 

(d) 1924  

133. -I fl-II Rti ri iiii4 

-II 

A. .1ci cH () 1. 260-280 gm 

B. .Iv1 I c1'*{ 2. 425-475 gm 

C. iIcf ct1 (4ii) 3. 510-567gm 

D. idiiiqw 4. 410-450gm 

(a) A B C D 
2 4 3 1 

(b) A B C D 

4 3 1 2 

(c) A B C D 

3 4 2 1 

(d) A B C D 
2 4 1 3 

134. &91T i fT  

(a) 4 

(b) 5 

(c) 6 

(d) 7 

135. cI?)i '-il'ii (t) l Wi)'I 1  

(a)  

(b) IfI 

(c) 11ii 

(d) Tc4)41f 

136. . ii ? 

(a) 13 #4'4, 19 1d, 25 4i4 

(b) 8 +c1u,  26 32 iT*1 

(c) 21 ciuT, 20 id, 26 1 

(d) 2 *'4, 17 1cf, 36 T+4 

137. R?I 11Ic4- cjlJ 4 W1 

Ii t? 

(a) 1896 

(b) 1900 

(c) 1904 

(d) 1924 
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138. Law of satisfaction is related to 

(a) law of effect 

(b) law of readiness 

(c) law of exercise 

(d) None of the above 

139. Which of the following is not a technique 
of motivation? 

(a) Reward and punishment 

(b) Praise and blame 

(c) Competition 

(d) None of the above 

140. The growth of behaviour is called 

(a) learning 

(b) human growth 

(c) growth and development 

(d) development 

141. Modern Psychology studies about which 
of the following? 

(a) Body 

(b) Disease 

(c) Brain 

(d) Behaviour 

142. The muscle which rotates head is 

(a) Sternocleidomastoid 

(b) Splenius capitus 

(c) Longissimus capitus 

(d) All of the above 

143. The type of recreation is 

(a) active recreation 

(b) passive recreation 

(c) indoor activities 

(d) Both (a) and (b) 

144. The contractile unit of skeletal muscle is 

(a) sarcomere 

(b) actin and myosin 

(c) z-line 

(d) myofibril  

138. T1t T 1$4 W-4fcf % 

(a) T144 

(b)  

(c) 31144 

(d) mti 

139. 1Hr1Rd ict41  rt ? 

(a) -R 

(b) li1 T 

(c) I4'1I1dF 

(d)  

140. cf '1Idf 

(a) flii 

(b) 2 I Icf 

(c) cR1 

(d) IR1 

141. 3T .I)Ik 1.1rRd i{ 1ici 

(a) iO 

(b) 1 

(c) H 

(d) °iii 

142.fi l* 

(a)  

(b) +K1111 

(c) cW*fiW 

(d) 4Th 

143. H'*i T 

144. 34i   *ifl 

(a) 1clq( 

(b) iI HI4'uIH 

(c) z-1l-f 

(d) IiI•f 

(a)  

(b)  

(c)  

(d)  
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145. The scientific name of calf muscle is 

(a) gastrocnemius 

(b) trapezius 

(c) pectoralis major 

(d) biceps 

146. Physiology deals with the study of 

(a) structure of human body 

(b) functions of human body organs 

(c) movement of body 

(d) human nature 

147. The first treatment for closed injury 
should be 

(a) application of ice and cold water 

(b) application of hot packs 

(c) application of medicine 

(d) All of the above 

148. Which one of the following is not the 
part of hydrotherapy? 

(a) Wax bath 

(b) Cryotherapy 

(c) Whirlpool bath 

(d) Contrast bath 

149. The liquid part of the blood is 

(a) plasma 

(b) cerebrospinal fluid 

(c) serum 

(d) All of the above 

150. Approximate glycogen stored in the liver 
of a sportsman is about 

(a) 70-100gm 

(b) 10-30 gm 

(c) 50-60 gm 

(d) None of the above  

145. cl)I'() (ufl) HR41 T iI1 RIR 

(a) 1f{ 

(b) fi1ii+i 

(c) I1i4{ ir 

(d) i 1*i 

148. 11rd 4-1 Ir1 i 1T 

(a)  1-T 

(b) gi4')1fc*ii 

(c)  

(d)  

149. 1c1 *TP1 11 % 

(a) Lv1I1 

(b) ' 

(c) 4(4 

(d) ft 

150. cb r1 

•?Flw1 

(a) 70-100gm 

(b) 10-30 gm 

(c) 50-60 gm 

(d)  
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